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1. The largest flower in the world is
(A) Lotus
Rafflesia
(C) Giant Cactus
. (D) None of the above

2. The most malleable metal is
(A)/Silver
) Gold

/ (C) Aluminium
(D) Sodium

3. Dialysis is used for people with defective
kidneys. It involves the process of

(A) .adsorption
€ ,(‘{) 0SMOSis

(C) electrophoresis
(D) diffusion

4. Which falls down fastest in vacuum— a
feather, a wooden ball or a steel ball?

(A) A wooden ball
(B) A feather

i;?rﬂeel ball
All of them with same speed

5. Whigh of the following is responsible for
the energy released by Sun?

A) Fission
(_B)}Fusion
(C) Chemical section
(D) Gravitational collapse

2. FIGCA WA AP —
(A) Tl
(B) @l
(C) SR
(D) cufeam

3. e Fef-E@live & SRR II-T
=3l 3 | @R dfFnn wive A
(A) SfFeaEa
(B). S+
(€) TERF@ERH
(D) o=

4. G oHETE, 9F6 IR I A G TS
ETA TG *FRE @0 FIGE TS A0S 232
(A) <3 T I& |
(B) @b sAters
(C) @b T=ites I
(D) ARQRZ TN oo

5. 3 *fE &7 oo @ W e
(A) Reiw (Rrerem)
(B) Few (Figcate)
(C) IATF ©lex
(D) BT ATIHN
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6. The first fully Indian Bank is 6. sem sl SO IR —
© (A) Canara Bank (A) TG JRF
Punjab National Bank (B) g e JIRF
(C) State Bank of India (C) GB% i o 2
/ (D) Central Bank of India (D) GTHE JRF o 3
73 Where is the Indian Council of Agricultural 7, PR AT SIS HAFE (PR wfES?
Research located? (A) G
(A) Dehradun
B) ZFWRM
(B) Hyderabad é?)/
6 © New Delhi / e
(D) Itanagar (D) THF

8. Which of the following is the oldest Trade
Union organisation of India?
(A) INTUC
O (B) CITU
(C) AITUC
(D) BMS

9. First non-citizen to receive Bharat Ratna

was
(A) Nelson Mandela

(B) Abraham Lincoln
© an Abdul Ghaffar Khan
Mother Teresa

10. Amnesty International is a
(A) an Right

UN agency to fight global terrorism
. Bt o

0 (C) Refugee Camps in Croatia
(D) Branch of the World Bank

8. wmmmmﬁm@i@ﬁwa@@ﬂaﬁ?
(A) wiR @« 628 &

~ ®) BT te
|/ erampnn

(D) & aw &

9, SRR AAAEE a9 d (F AU CITOTR
(eiraferEm ¢
(A) TP SOITEe
(B) SR foree
(C) AN e SR AW
(D) Wi ST

10. STRCARS RORHAR 251 G0
(A) TFRfER o4t
(B) FIA TEPRM (AR wfere
wif$sreR A<
(©) G =l R
(D) ™ e A
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11. ‘My Life’ is an autobiography of
(A) Dr. APJ. Abdul Kalam
(B) Dr. Rajendra Prasad
Clinton

(C) Bill
/O Hillary Clinton

12. Which organ of UNO is considered as
World Parliament?

(A) General Assembly
(B) Security Council

% (C) International Court of Justice
(D) Trusteeship Council

13. In India, maximum number of workers are
employed in
Textile industry
/ (B) Iron and Steel industry
(C) Petrochemical industry
(D) Automobile industry

14. What is the minimum calorie intake decided
by the Planning Commission for rural and urban

areas? _
Mo and 2100
(B) 2100 and 2400

(C) 2400 and 2200
(D) 2100 and 2200

15. The head of the Reserve Bank of India is
designated as the

/(A) Chief Executive Officer
(B) Managing Director
(C) Chief Banking Officer

/ None of the above

A-4

11, S o i A
(A) v @ 31 Cor AT P
(B) ©3 AN P
(C) 3= B0
(D) e fFoa

12, iR oAl R ot R o ¢
(A) e Sif
(B) fametal stz
,gc)/ G OF SAMIAS
(D) iffS siefm (Afaw)

13. ©HTs, T Mye 2T Fge ITwE
(A) (GHbiRe i
(B) @2 8 TS e
(C) Amicafme Mies
(D) SHIRRE st

14, 21 6 =eE G T AR FhH 7R
fdifae wdivw Amean IR TAEE T

(A) 2400€ 2100
(B) 2100 2400
(C) 2400'e 2200
(D) 21008 2200

15. SR RelS JI0ET 40T 3671 =W
(A) 2y 4 =t
(B) I3~
() for it wimig
(D) ToER PR
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16. Ministers may be chosen from

(i) Lok Sabha

(i) Rajya Sabha

(iii) outside the Legislature
Find the right answer by using the codes:
(A) Only (i)

(B) Only (ii)

(C)_&» and (ii)

) (i), (ii) and (iii)

7&

17. Whicharticle separates Jammu and Kashmir

from rz:::thdﬁ?
Article 370

(B) Article 360
(C) Article 268
(D) Article 361

18. Summer Solstice in the Southern
Hemispherg.oeccurs on
ﬂnd December
B) 23rd September

(C) 21stJune
(D) 21st March

19. Which of the following rocks istransformed
into marbel?

(A) Granite
uBﬁi‘mestone
(C) Peat

(D) Shale

20. Which of the following is not a source of
renewable energy?

/ (A) Hydroelectricity

(B) Solar energy
Fuel cell

(D) Wind energy

MCC/18

16. R FioA 20 A
(i) EIR=Te
(i) AreTTel
(iii) SPTOR IR
roafl IIL I Ao Ta fRlive 7 &
(A) I (1)
(B) @3eid (ii)
(©) () (i)
(D) (i), (ii) &3 (iii)

17, i g (ST SIared T ST (AT
oy ¢ PP Sl FC?

(A) 4di 370

(B) 41 360

(C) 41t 268

(D) 4191 361

18, e cotfeticd AR FEEO (Tee) TB
(A) 22 1 feriEe
(B) 23 (1 AT
(C) 2148
(D) 21¢4 =5

19. Frafef® o “ied e Ferefe e
(A) WG
(B) RIS
) ¢
(D) =

20, fEFRe @l ey “f& T
CEiRe
(A) =R
(B) GTz=fe
(C) T (1

(D) I +f&
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21. Vande Mataram wasfirstsungat the session
of the Indian National Congress in

(A)-1886

B) 1892
\azﬁ;%

(D) 1904

22. The term ‘Congress’ was derived from
’/\M{:ne history of North America
(B) Irish history
(C) British Commonwealth
(D) the name of the American Parliament

23. The chemically inactive gas present in the
atmosphere is

(A) pitrogen
uB(::gon
(C) water vapour

(D) oxygen

24. Solar eclipse occures when
(A) Earth comes between Sun and Moon.
(B) Moon is at right angle to the Sun.
(C) Moon comes between Sun and Earth.
(D) Sun comes between Moon and Earth.

B

25. Troposphere is the hottest part of the
atmosphere because

(A) itis closest to the Sun.
(B) there are charged particle in it.
(C) itis heated by Earth’s surface.

>

A6

21, oS wom e o i
e i AT A
(A) 1886
(B) 1892
(C) 1896
(D) 1904

22, ey > 2Ne AR
(A) Ter AR 2ER (AT
(B) wizfam BfeTM (A0
(C) fox FmerE=Y (AL
(D) SRS AW (AF

23. aRweTE THifye aEEE Riga S0 2=
(A) TREGICE
(B) It
(C) w&m A
(D) SfHE=

24, ¥aRd TG T4
(A) +ffeR, 5 @ ir= Wy Wi |
(B) BT @ S0 W STl Sesiw 7 |
)< (C) b, 7 8 <4fAF TR = |
i, B 8 +f43a ea wie |

25. QUAIFFIR INTER Seow wH Frae
(A) «fb 7 Faoew |

(D) heat is generated in it.

(D) a3 S S Teoly 73|




26. Who built the famous Sanchi Stupa?
Ashoka

(B) Chandragupta Maurya

(C) Ajatshatru
(D) Shashank

27. Who were the first to issue gold coins in
India?
_ (A) Shakas
(B) Hunas
(C) Cholas
Indo-Greeks

28. Who was the first Home Minister of free

India?
\ Sardar Vallabh Bhai Patel
/ (B) Mahatma Gandhi

(C) Jawaharlal Nehru
(D) Subhas Chandra Bose

29, ‘Ghumar’ is a folk dance of
(A) Gujarat

(B) Punjab
Rajasthan

(D) Tamil Nadu

-~

he term ‘Sufi’ is derived from

(A) of poetry
m of garment

(C) alanguage

(D) the name of a place

30

26. e Sifsee ¢ fRafie T2
(A) SIS
(B) v&ed GTd
(C) eIz
(D) *MIrF

27, Tl Ao SIS iUl Abe F ?
(A) ==
(B) &=
(C) ot
(D) Zewl-A

28, 7P wIATSA &ds TGN (F e
(A) M4 IS ©IZ G
(B) W2l SR
(C) TeTIEE (T
(D) o v& ]

29. TR @AY} ZA
(A) IEAEA
(B) Agitaa
©) A=FER
(D) SifiEares

30. % ==l wrTR
(A) GFERAEA FAS! (AF
(B) IFYITA (AMIT (A
(C) «=fb ol (U
(D) €% TFAT TN (A
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31. What is ‘Zero hour’? o

(A) When the proposals of the opposition
considered

(B) When matters of utmost importance

are raised

@ (C) Interval between morning and
afternoon sessions

(D) When Money Billis introduced in the
Lok Sabha

32. The Speaker of the Lok Sabha is elected by
(A) all the members of Parliament
(B) the people directly
(C) all the members of Lok Sabha

(D) the members of the majority party in
the Lok Sabha

33. The Judges of Supreme Court take an oath
before entering upon office, conducted by

(A) Chief Justice of India
(B) President or Vice-President

(C) President or some person appointed
by him or her :

(D) Prime Minister

34. Disinvestment in Public Sector is called
(A) Liberalisation
(B) Globalisation
(C) Industrialisation
(D) Privatisation

35. India started its Five-Year Planning with
effect from the year

(A) 41955
B 1951
(C) 1960
(D) 1965

A-8

31, forca wnewa’ He
() e R T 2 R

(B) e T oy Rewefd Ture

=
/C (C)W@ﬁasmmmﬂmw

meﬂﬂfﬂ\doney)ﬁﬁ
o I A

32.2511@@1&1@1@@1?1%?@3’@@@?
) SiEfeICsd FPe U A
\/:;) et A A
@SR A T Al

(D) ARSI FRNST TS A6 7T
e

33, e @G Reeea SfFe] IfeR (6T’
WS @ #oe (7 ©f AfI5ieT Faw

(A)-®red 244 519t
‘/\LB)/w?vri%m%om@ﬂ%
) Fges A1 O e @ afe
(D) 2=

34. e GreEe Refieaes e =
(A) TwiaReRe
JB( fRParm
(C) Pz
(D) Ifesreead (2ARrebiRTem)
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36. The first woman to scale Mount Everest

36. WO TSIATE @l AN WX farE
was (A) wiafe AR
(A) Asiltibaa (B) S ST
(B) Asha Agarwal
(C) Bachendri Pal ./ \(Q){TCF@ i
(D) Rita Faria (D) faet wifdm

37. Shanti Swarup Bhatnagar Award is

37. =i @A ©Hasa ATHEI A T8
associate:)w;th . b _
ports o> .
(B) Science and Technology gﬁgﬂ 2fe
(C) Agriculture I
(@) Film (D) FAa

38. Which Scientist wrote a book called “A

38. o e « faw B e SR A o3l
Brief History of Time”? ECRGIAICTE:
(A) Stephen Hawking ot 3
(B) Edward Jenner (B) M6 o
(C) Meghnath Saha >Q \/W
(D) Pasteur ; ( Al
(D) =ivg=s

39. The largest man-made canal in the world is\

39, s Jzew WeEd tofF U ==
(A) Rhine Canal s (A) A A

(B) Panama Canal (B) A 2

(C) Suez Canal (©) T A

(D) None of the above

(D) 9afra @iE’s

40. The first Lokpal Bill was introduced in the

40. A AT 1 AR Torgrei F 1 TR
Parliament in _ o) % 1953

(A) May, 1968 > @

(B) May, 1980 7Q (B) &%, 1980

(C) July, 1982 ©)- 1982

(D) June, 1985 o, 1985

Please Turn Over
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41. ﬁwwm’ﬁmm

41, The famous painting ‘Satyam SRV 1 - 0o
Sundaram’ was prepared by - (A) wEEAe R
(A) Mahendranath Singh P
(B) Nand Kishore Sharma - (B) ™
(C) Sivnandan Nautiyal () Fre il
(D) Raj Kapoor (D) A& I
“q?
42, Which of the following isnota folk dance | 42, 5 D 161 20T G-
of Himachal Pradesh? (A) 9
(A) Dhaman (B) offe]
(B) Chhapeli 74 \uzg:fﬁi
(C) Mahathu D) JPE N
(D) Dhakoni /|
43. 2020 Olympic will be held in 43. 12020 e T3
(A) Japan :
(B) London (B) #%-q
(C) Germany (©) TfE-co
(D) Rome pey
p
44. Which one of the following is the oldest . Aea RN A0 AN o =9 2
Grand Slam in the World? \fﬁm
(A) Wimbledon (B) @ ‘Gt‘;[ﬂ
(B) French Open
(C) Australian Open (C) STFfem etste
(D) US Open (D) T @3 @ro
45. In which field Pulitzer Award is given? 45. sffieea Aw o CTE (e 79
(A) Science and Technology & Bt apIFa: MY 2
(B) Literature and Journalism \(B{’l\ﬁ%'f @ e
(C) International Understanding (C) wIwEfos
(D) Environmental Studies D) SNl
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46. The vitamin which is generally excreted by
humans in urine is

(A) Vitamin A
(B) Vitamin D
(C) Vitamin C
(D) Vitamin A and D

47. Calcium content is maximum in
(A) Bajra
(B) Maize
(C) Sorghum
(D) Wheat

48. Which of the following pairs belongs to the
category of cold-blooded animals?

(A) Birds and Monkeys
(B) Snakes and Birds
(C) Frogs and Snakes
(D) Rats and Lizards

49. Consider the following statements:

(I) 2G spectrum uses bandwidth of
30-200 KHz.

(I) 3G spectrum uses bandwidth of
15-20 MHz.

(III) 4G spectrum uses bandwidth of at
least 40 MHz.

Which of the statements given above is/are
correct?

(A) All of these

(B) (I) and (ID)

(C) (II) and (I1I)

(D) Only (IID)

50. Which of the following is 2 popular
programming language for the developing
multimedia web pages?

(A) COBOL
(B) Java

(C) BASIC
(D) Assembler

MCC/18

%.%mﬁﬂmmwwmmw
ffo =y —
(A) o5 A

e
foifE C
(D) EefimAeD

47. @WHIS FAFE AW S AME?
(A) B )|
(B) W&

)C‘ (C) G
) o
48. ﬁ\mmmﬁmmaﬁwm?
(A) “if2 e AT
(B) 3 @+

e @ A
(D) Za ¢ Prfal

49. ffeie fefosf frape wF ¢

@ 2f& 3@ (2G spectrum) 30-200 KHz
ETE I FE |

(i) 3f&=efid (3G spectrum) 15-20 MHz
ﬂ!lﬁ?ﬂi GEPARRRIGH

(INT) 4f& 2R (4G spectrum) SIS 40 MHz
FEHRY PR T |

Boia crea Rfoa o | comale ow?
(A) T

B) (eI

(C) (I1) e (1IN

(D) @@ (1I)

50. fnfEReeFRTS D e TR
TR (e frE T G i cataifse St e

/;W

(€) &=

(D) SOICTEEAR

Please Turn Oy
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51. Acandoapieceof workin4days andp can
complete the same work in 12 days. What is the
number of days required to do the same work

together?
(A) 2 days
/ (B) 3 days
(C) 4 days
(D) 5days

52. Before 7 years, the ratio of ages of A and B
was 3 : 4. After 9 years, ratio of their ages will be
7 : 8. The present age of B will be

(A) 16 years

/ (B) 19 years
(C) 28 years
(D) 23 years

53. X, Y and Z undertake to do a work for
Rs. 6,000. X and Y together do S of the work and

4
rest is done by Z alone. How much should be share
of Z?
/ (A) Rs. 1,350
(B) Rs. 1,200
(C) Rs. 1,500
(D) Rs. 1,450

54. A tank can be filled by pipe X in 2 hrs. and
pipe Y in 6 hrs. At 10 a.m., pipe X was opened. At
what time will the tank be filled if pipe Y is opened
at 11 am.?

(A) 12:45p.m.
-/ (B) 5:00p.m.

(C) 11:45am.

(D) 11:50 am.

55. Jagatram, a milk seller has certain quantity
of milk to sell. In what ratio, he should mix water
to gain 5% by selling the mixture at the cost price?

(A) 1:10
\/ (B) 1:5
' (€) 1:20
(D) 1:15

315 4 fTH AT AT €} B
é%ﬂﬂm 12 TR | o e e
215 T PSR O (LI

(A)

3 fae
(C) 4 W=
(D) 5

52. 7@9{@&@«&%%@@%%
3:4|9WWWWW’N§@7:8|
B-93 367 5 I

(A) 16 3=
/B) 19 7=
(C) 283X

23 I

53. X,Y 932 Z 6,000 GIPIH G310 IS FAR G
pieam 2o | X 3R Y G308 FE oA %W‘fwmﬁs
FIGH 7, 4T (1 391 | Z-93 TGHRA G IO A ?

(A) 1,350 Bi=st
B

/ (B) 1,200 Bt
\;Q/ljgomw

(D) 1,450 Bist

54, 3B OIE X T2 2 910 ©fF 7 @3 Y 7
711 6 91T ©f =7 | 3 10 B X &S et 2=,
oizE Gl of6 1 @i T I Y w1 e
11 B cAtem 23 e

(A) 12:45 p.m.

0 (B) 5:00p.m.

(C) 11:45am.
(D) 11:50a.m.

§5. woleqm, aFem 1y e Ry sAfm gy
TR RS &) | (I SIS S ettt o el
T R F96 5% = 732

(A)1:10

y1:5
\(Q{::ZO

D) 1:15

i e




56. If speed of 3-% m/s is converted to km/h,
then it would be

(A) 8 km/h
/ (B) 9 km/h
(C) 10 km/h
(D) 12 km/h

57. The mean temperature of Monday to
Wednesday was 37°C and of Tuesday to Thursday
was 34°C. If the temperature on Thursday was
4/5 that of Monday, then the temperature of
Thursday was
(A) 35-5°C
(B) 34°C
(C) 36:5°C
(D) 36°C

4

2

58. = of l%of 75% of 540 =1

(A) 378
(B) 756
(C) 252
(D) 332

59. A 400 m long train takes 36 sec. to Cross a
man walking at 20 km/hr in the direction opposite
to that of the train. What is the speed of the train?

(A) 20 km/hr
(B) 30 km/hr
(C) 15 knv/hr
(D) 11 km/hr

60. To cover a distance of 315 km in 28 hrs,
what should be the average speed of the car?

(A) 112:5 m/s
(B) 56:25 m/s
(C) 62:5 m/s
(D) 31:25 m/s

—
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56, o 3?‘-5- /s o TSRS 41 W km/h &,

O O L
(A) 8 km/h :
(B) 9 km/h L \?
(C) A0 km/h + '7
) 12 km/h 7; .

57, GV (A0S JHAIF-6F 4G TR 37°C IR
TR (UE TSI Y Taesl 34°C|

i JifeR-a3 Tl AIRICAA TSI 4/5 H,

NGk e CRICERT O RS . X
(A)355°C M 7

/ \_a})/grc c_bq- + .

(C) 36:5°C Vv

"

(D) 36°C cb
L\°:>

\\2\5\)

\

2

: 1%@2.: 75% @ 540 = *?
QXGS
| 756
(C) 252

(D) 332

58,

59, 3 400 m AE G 36 CFS T T
G Roie e 2ot o FfeTe ST F40s, T
| oEgE GAba «ife 382

\

5
+ 2%

o
A

(B) 30 km/hr Y 60 —~ D
(C) 15 km/hr /—‘;/’_' o
©) 1kmhe N’ ?/‘(")%‘j
60. 315 km AT Sfoew FACS AW 2-8 I T

s, o Meha ot oS Fe = 2*9711
(A) 125ms 15 R ol
(B) 5625 m/s
(C) 62:5mfs
(D) 31-25 m/s

Please Turn Over
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s i es 9 seconds to cross a pole. Ifthe
Sp::d (;ttrha;ntrtaail; is 48 km/hr, then length of the m@gmﬁmqﬁ% mﬂntﬂ,mm
train is el @S
(B) 120 m_ 120 m W ‘_r
(C) 90m - 6 (C) 90m 76;_‘5:__%%
(D) 80m /(D) 80 m V,%

62. The HCF of three numbers is 23. If they are
in the ratio of 1 : 2 : 3, then find the numbers.

(A) 69,15,22
(B) 23, 46, 69
(C) 25,31,41
(D) 23,21,35

63. A train covers 90 m in passing a standing
man. Find the length of the train.

62. fonfB wep sloe. 231 e A

7% 1 .9 . 373, AR T T
15,22 :

(€) 25,31,41
(D) 23,21,35

63. aﬁ@ﬁaﬁﬁ\@mﬁmmawwﬁmﬁ
e (G T ST 7R 90m | GG O

(A) 20m feiefa =
(C) 71 m (B) 87 m
(D) 90 m

N\

64. A General of an Army wants to create a
formation of square from 36562 army men. After
arrangement, he found some army men remained
unused. Then, the number of such army men
remained unused was

(A) 36
(B) 65
(©) 81
(D) 97

65. The sum of place values of 2 in 2424 is
(A) 4
(B) 220
(C) 2002
(D) 2020

/

/) m
'@{;gm

64. 9T CEIEHE 36562 GWE W@ a3
oz 910w FACS B | 519w T 913 Fof (it g
T SIS (ATF (5 | SITS (T T F6 2

(A) 36 _‘
. (B)65 ';.2“
O os

(D) 97

65. 2424 WAHTS 2-97 FAW Nwefem o

(A) 4
(B) 220

2020
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66. A father is nine times as old as his son and
the mother is eight times as old as the son. The sum
of the father’s and the mother’s age is 51 years.
What is the age of the son?

(A) 7 years
(B) 5 years
(C) 4 years
(D) 3 years

67. How many numbers between — 11 and 11
- are multiples of 2 or 3?

(A) 11
(B) 14
©) 15
(D) None of the above

68. 12, 16, 32,
(A) 196
(B) 232
(C) 276
(D) 213

68, 132, ?

69. X covers 1 km in 8 min 40 sec while Y
covers the same distance in 10 min. By what

distance does X defeat Y?
1

(B) 1332m

3
3
(© 133Zm
1
3

(D) 133 m

70. Inanexamination out of 480 students, 85%
of the girls and 70% of the boys passed. How many
boys appeared in the examination, if total pass
percentage was 75%?

(A) 370
(B) 340
(C) 320
(D) 360

-
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66. Prom T2 #i WO 9 ¥ GR TS T
ot O 8 @l | et @ W TJET ATE
SR TR IATS? £ Qe |, % L
(A) 73 ot
- 2 Y
(B) 5= it d

9+ 5
2

67. —11932 11 97 TGS POV 7Y 2313 99
afes ?
(A) 11
(B) 14
() 15
(D) qafer Ty @EbE T
16 36 by
(\mn
68. 12, 16,32, 68, 132,? 3
(A) -
232 -

\/(C) 276

(D) 213

e
o

69. X, 1 km Sfos <3 8 fil. 40 G, AN 4R
Y, &3 932 ey Sfees 30d 10 fRG 1 X, Y ¢ F©
YAy RIS T2

(B) 133% m

o) ©) 133% i

(D) 133% m

70. @3 AT 480 T DI-QAF WY 85%
m@rmnc%mﬂmw:mﬁwmﬁﬁ
75%@%@5@%%@@&@1?

) 370 ‘}f/(/ga% qy

R
320
X

(D) 360
Please Turn Over
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71. What will be the angle between the hands 71, 9feCS 4-40 pm -3 7 e
of a clock when the time is at 4:40 p.m.? o fofd [ERESK
(A) 120° (A) J20°
(B) 100° 100°
©) 1o (C) 110°
(D) 130° (D) 130°
72. What least number must be added to 1057 72. @I FAGH R 1057-47 T Ao FHCO
to get a number exactly divisible by 237 3 A0S @ srsjefercd 23 g1 R e
A 1 1
(B) 3 B) 3
© 2 N ©) 2
(D) 4 (D) 4
73. Gopal bought a cell phone and sold it to 73, caAIE 9o CETEN F I @ IS
Ram at 10% profit. Then, Ram wanted to sell it 10% s fafes F7@ | SRe A 2 e 10%
bac%c.to (.}opa] at 10% loss. What will be Gopal’s R (oA ffe A0S B, 7f# ot Py
position if he agreed?
; . me,wcmmmmmmﬁm
(A) Neither loss nor gain e
(B) Loss 1%
(C) Gain 1% vy (A) Wﬂ@ﬂsﬂﬁﬁﬂimm

(D) Gain 0-5%

7a. J‘?+%of80=60xl+3

P
(A) 36864
(B) 46864
(C) 56864
(D) 66864

75, If x+

=2 , then what is x equal to?

1+ ——
2+—1—

3

@) 1

1
® 1

11
© 1o

17
D 7o

) %
X
%

) 1% =S =1
(D) 0-5% 7T A

74. 7+ %iﬂ?l 80 = 60x-]j«+ 8

(A) 36864
(B) 46864
(C) 56864
(D) 66864

75. W x+

=2, O x-GA A TS ?

1+—-—1.
2+
3

nt




76. Find the value of
1 2 3 4 5
9997+999-7-+9997+9997+999?+9992
(475997
(B) 5979

(C) 599
(D) 2997

77. The population of a city is 250000. It is
increasing at the rate of 2% every year. The growth
in the population after 2 years is

(A) 2500

(B) 10000 o) ?\f/
(C) 252000 \®

(D) 10100 w

TN ? A
\© q’»o‘-\ b
78. A man covered a disfanee of 12 km in

90 min by cycle. How much distance will he cover
in 3 hrs, if he rides the cycle at a uniform speed?

(A) 36 km qou el
(B) 24 km \©

(C) 30 km Ny
(D) 27 km 7 R

79. Anita purchased a bicycle at a cost of
Rs. 3,200. She sold it at a loss of Rs. 240. At what
price did she sell the bicycle?

(A) Rs. 2,960
(B) Rs. 2,690
(C) Rs. 3,440
(D) Rs. 3,360

0y | -
4of of100f1664

(A) 648
(B) 762
(C) 612
(D) 728
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76. Wi fafa 3%

999;-+999~?]-+-999%+999%+999§7+999-§-
(A) 5997
(B) 5979
() 5994
(D) 2997

71, 43T e wE 250000 | &S A=A 2%
mqﬁﬁmlzwm SIEEIERCESE
(A)-2500

(B) 10000

©) 2
10100

78. @ & 90 G FAZHE 5TT 12 km TR
a7 | OTE0A 3 UBH (T 3 [RY WO 90
A (1 AR FTHASCS BIeT 2

(A) 36 km '
(B)- 24 km
(C).30 km
(D) 27 km

16 -

;&??? * "

=

79, Sarel (B AiRCE 3,200 BN & I7 |
o1 SRS 240 B1% GRS i 9@ | TS Bidt
T (1 ARG (e w92

(A) 2,960 Bl
(B) 2,690 B
(C) 3,440 Bt

(D) 3,360 B! \ X

D
0

W
Y. 416
i

§ @50
et T 10

) 648
(B) 762
(C) 612

_(Dy728

— 93 1664 = F9°¢

Z x

75

80.
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81. Ifthe average ages of Rakesh and Mohan is
of Mohan and Ramesh is 12 and

15, average ages .
the average ages of Rakesh and Ramesh s 13, then

the age of Mohan is
(A) 16 years
(B) 13 years
(C) 14 years
(D) 12 years

82. P,QandRstarta business. Pinvests 3 times

. 2
as much as Q invests and Q invests 3 rd as much

as R invests. Find the ratio of capitals of P, Q and

R. - -

(A)3:2:6 [y ~ ()%
(B) 2:6:3 "™
(C) 6:2:3 ? . Q

(D) 5408

83. Inwhatproportion mustagrocer mix wheat
atRs. 2-04 perkgand Rs. 2-88 perkgsoasto make
a mixture of worth Rs. 2:52 per kg?

(A) 2:3
(B) 3:2
R 3 3
(D) 3:4

84. One-half of a certain number is equal to
65% of the 2nd number. Find the ratio of 1stto 2nd
number.

(A) 10:13
(B) 8:13
(C) 13:8
(D) 13:10

85. A shopkeeper allows a discount of 10% to
his customers and still gains 20% on cost, the
marked price of the article which costs Rs. 450, is

(A) Rs. 600
(B) Rs. 540
(C) Rs. 660
(D) Rs. 580

) 8:13
(C) 13:8
13:10

81. Wsﬂ‘«mﬂ@m 15, GRS ER
mwmlzazw.@“fmﬂwww
o 13 77, OrEA (NI T T — o B
(A) 16 I=F ,
(B) -
14 3=
=
(D) 123=d 4“’-‘ "

M
82. P,Q&?:Rtﬂﬂﬁﬁﬁﬂ%@[ﬂat()mmq
ﬁmﬂm,Pm3mﬁﬁmﬁma«Rm
ﬁﬁmﬁmqw%wmﬁﬁmﬂmeaaﬁ

R-G7 TR SANS FO 2 O n
(A) 3:2:6 P &
M N
am 2
pon -

83, e it 2:04 B &lfS (e ACa S 9N
288 510t i (T AR oI (BIeT S AICS Forete] FCT
fifre siia &fS e ve 2:52 DIl T2

(A) 2:3
(B) 3:2
(@y 58
(D) 3:4

84. (@A <3 WS 2w A wdS o
TR 65%-4F T | A2 8 RS T T ArS

- 7 .

"

27
AN
Y

85. (T MRS AR 10% fETH
e FIETR Tom 20% TS | (@ AR

T 450 B, OF 4T O 6 ?
(A) 600 Bt

(B) 540 Bt
(C) 660 B
(D) 580 B

(A) 10:13

e
QD

|
= 6‘"‘/-—5—{“
L
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86. If costof 15 eggsisRs. 75, then find out the
cost of 4 dozen eggs.

(A) Rs. 240
(B) Rs. 300
(C) Rs. 150"
(D) Rs. 185

87. Which one among the following is the
largest?
)
@A) 3
11

B) 11

Blw

(©)

1
©) 13

88. AsumofRs.300isdividedamongP,Qand
R in such a way that Q gets Rs. 30 more than P and
R gets Rs. 60 more than Q. Then, ratio of their

shares is
(A : 5 , _
(B) 3:2;5@@/; qc/: fS@/
. : 5 : 3 Q '}‘.S"\
(D) 5:3:2
89. The least number which when divided by
4,6,8and9leaves 7er0remamder1neachcaseand
when divided by 13 leaves a remainder of 7, 1
(A) 144
(B) 72
(C) 36
(D) 85

90. Suresh borrowed Rs. 800 at 6% and Naresh
borrowed Rs. 600 at 10%. After how much time,
will they bothhave equal debts? (at simple interest)

1

A) 15=yrs.
(A) 153

1
B) 14— yrs.
(B) 145

1
( — VIS.

2

(D) 16 Y1s-
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86, T 15 B Roo@ FwEy 75 T T, ORE
4 o ST FE0 IS 5._—___) 9
(A) 24051 l g?‘)
(B) 300 Bl '
?( ‘}23/150731@1 W% — Yy gfx %
(D) 185 i 'Yy }—;

87, FraRoefRm Wy (P AIGE e

K

88. 30051 P, Q,R-«ﬂasmuamwwﬂw
e 27, TS Q, wamo%maﬁvmam
RQmﬂmﬁoW@ﬁm|Wwww
.rgn-;— m+ 903
aay + 120 =250

9"\-"611

@) §

1

®)
N £

©) 33

-
-

89, (olel Fuow AT T4 4, 6,8 4R 9 A
19 =] 0, aifodra 0 TRMB ATE @3 T4 13 7=
olol 391 T 2ferRea 7 SRS A

: (A) 144

(B) 72
e

90. wsoomimmﬁ%wm:wsoo

%mmmlo%m|wmﬂm@wm

3

AR SAfA F 23 2 (FFA )
A) 15_@, w15 500 %I
(B) 1413 Lo [rD
3 L'%,oo 'T 6000
©) 18535:‘5‘ _6_’6_22
@) 1637 }2‘?’3
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91. Inaclass of 49 students, the ratio of girls to
boysis4:3.1f4 girls leave the class, the ratio of
girls to boys would be

(A) 11:7
(B) 8:7
(Cy 6.5
(D) 9:8

92. Today is Monday. What will be the day
after 64 days?
(A) Thursday
(B) Wednesday
(C) Friday

(D) Tuesday /

]

93, What would be the simple interest obtained
on an amount of Rs. 8,930 at the rate of 8% per
annum after 5 years?

(A) Rs. 5,413
(B) Rs. 2,678
(C) Rs.3,572
(D) Rs. 4,752

94. A dozen pair of socks quoted at Rs. 80 are
available at a discount of 10%. How many pair of
socks can be bought for Rs. 24?

(A) 4
(B) 5
© 3
(D) 6 !

95. 3 men can do a piece of work in 18 days.
6 boys can also do the same work in 18 days. In
how many days, 4 men and 4 boys together will
finish the work?
(A) 10 days
(B) 6 days
(C) 12 days

, ST AR ¢ AT TSI 4G
(A) 11:7 z
BET Y > W

6:5 ] - ¥ )

/ : 8

>0 D) 9 { \\\.\

92. W(W)mwaqm,ﬁamﬁmam

A2 | Y
(A) TSI l & )
(B) 3R |

/ (C) vFd

uz{w

93. 8,930 Breia AT 8% e A AR 5= U
A9 (WG AFE AW Fe ANe Q2

(A) 5,413 Bt ki YP A 7
(B) 2,678 OI®l

e wﬁﬁw t
(D) 4,752 %/

94, &3 TE (ETG! (IR IfeT o 80 TRl
10% fEoiBTs e T | 24 BIFI T (RS! (e

WW&?: g /'2-,%4‘

\/ ®> <« %
© 3 €3
(D) 6 ‘q/ s |
91

aM ~

95, 3% (@13 TN G376 e 18 A T 1 6T
T €% G2 3G 18 A I3 1 4 T (11T @R 4 &
JEF GG TOM 93 IIGH T FAE 2

(A) 10w
(B) 6w
(©) 12T

(D) 9 days

(D) 9 "=
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96. If the speed of a swimmer in still water is
9 km/hr, find the downstream speed of the
swimmer, when the river is flowing with the speed
of 6 km/hr. ‘

(A) 15 km/hr
(B) 18 km/hr
(C) 3 km/hr
(D) 12 km/hr

97. The LCM of two numbers is 2376 while the
HCF is 33. If one of the numbers is 297, then the
another number is

(A) 216
(B) 264
(C) 642
(D) 792

98. A does 20% less work than B. If A can
complete a piece of work in 7% hrs, then B can do
it in

(A) 4hrs
(B) 6hrs
(C) 8hrs
(D) 10 hrs

99. A class is divided into two sections A and
B. Passing average of 20 students of section A is
80% and passing average of 30 students of
section B is 70%. What is the passing average of
both the sections?

(A) 2%
(B) 74%
(C) 75%
(D) 77%

100. A sum was putat simple interestata certain
rate for 3 years. Had it been put at 1% higher rate,
it would have been fetched Rs. 5,100 more. The

sum is
(A) Rs. 1,70,000
(B) Rs. 1,50,000
(C) Rs. 1,25,000
(D) Rs. 1,20,000

96. Wﬁmﬁ?wﬁﬂﬁﬂnﬂﬁm
Wmﬂmwﬂﬁﬁ@ww
Az 32 oS 6 km/hr.

(A) 15 km/hr |

(B) 18 km/hr | i
(C) 3 km/hr O}

(D) 12 km/hr

97. @26 YW AL, 2376 IR T b
siofe. 33| @@ AT 297 A, FAR Wit ¥ ¢
\,(A)/ 216 i B A

(B) 264

><'(C) 642
(D) 792

98. A,Baawzo%mwmwﬁA
I TG 7% B O A, IR B G2 I I

(A) 49D
(B) 69T
(C) 89DW
(D) 10 95T

99, =5 (T A € B 46 Gt ool 41 % |
A R 20 T 2R AR 29 80% 9N B
TR 30 15 TR AT 27 70% | TS GRATT
A YT FO?

(A) 72%
(B) 74%
(©) 75%
(D) 77%

100. g ofnd Bl @3 RS Qe 7 N
RfE 31 =3 TR w1 T 1% @R TR @
2141 TS S 5,100 Bid S ~hew @S| €%

(A) 1,70,000 B
(B) 1,50,000 B0t
(C) 1,25,000 51
(D) 1,20,000 51

{ '



